Osum P, / An deltagp O

Ratio to ATLAS

18

16

14

12

10

[EEY

0.5

13000 GeV pp Underlying Event
LA L I I L I B A

[ 1
N BB

-

:| L ]
- Z(p,) vsA@(inl < 2.5, p >0.5GeV, p_> 10 GeV) ]
— m  ATLAS T
— --4-- Herwig 7.2.1 default -
e ¢ Sherpa 2.2.9 default _|
Z¢ _

||||||||||||||__|||||||||||
L

?Z
N
[-H ] s

1. B e EES s E S O NES p e l

W Lo N

- ey »® -

’”@"?w"n’ﬂNH $99,4 dest?’
| 1 1 1 1 L | L 1 1 1 1 L | L 1 L 1 L 1 L 1 L | L 1 L 1 L 1

0 50 100 150

|A @ [degrees]

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


